WML BERBRRFE 102

SREHLHD A A AR + HE A L A

[ ]
v

10~ &

11~

12 ~

13 ~

14 -

15~

16~

17 -

18~

WM (B840 %3845

W08 ey .

SAn X4::5(“‘2) vﬁ\ljx::; e
5 10

%5""1&mﬁ&ﬁﬁm%

T

# X6 y=1.3:2, g x+y=

# Gr-D:i(xrD =511 =

Bhkax ¥y=2:33z=2x px )y z= .
# da=5b=06¢c glabc= e

Bge A(52) £ x+ay=5 wEBL > 8la=

g ko e ACS2) maMm R ST X AR TRX S

_E_
e (2x-3y) (x+2y)y=2.3 ;;ijl L .

By xRt aX=deg, y=3a 5% y=9 &, x=
g 3x:5y=12:25.p3 2x+y=25 . gx—-y= o

wrag Li2x=-3y=1 mug M x-y=2 gamess :

Eoy By AL Ex=88F y=12 - A x By iH5 .

wMag Lo2x-3y=1 mgigg M Ax—0y=4 . & amaFd ko) WA T P — 2

S € %449

(AOF gt Er—8 B Shaafs O HisEs

B AR e

EEAF _ERNLFRBEME RS

A

wafk, axtby+6=0 wypae (0,-2) - 3,0) . (k,~4) =mm - w k= o
Yoo RE AR 840 L BheW o mssduts 3045 R A T
T e A & el WAR AR ¢ 25 o0 A A 150 SR T H ik 400 48 5 R a0 SR A 200 T



19~

20 -

21~

22~

B ab<0 . a-b>0 g~k Fik ax+by=1 aymn RewBh_ S

Fodooawdih A0 O E AR A T 0 E] ok o SR F N B L K 00 W DR 4 8% R E B R uF

g e

1
o LR A QR R TG AR G SO HIFT  LHadeB 615 R ARS

e 260 oo sbud P - ZahaEIh B s e c MY RAE e

AORE R TR 10 4RI A PN L — MR AR e A RAT AR N — LS T o %
R4 A RS B T8 30 HHABR < Sa @ D=315 e RRR R R SRR > - ER RS

S a O RAT AN B R T B G e

SOG4 A #1272 4)

i

HARFGEEE - gr el 2x+y=4 wEw-

2 pRBEHLE-f% L 2Xx-3y=0 5REx - VWA Bl Sded X LA — WP B AAPR th Rk
A 15 SR Eiqm o R sbny PoBE AR BT 7 (PEL A R TR > REEF R R

3y R EHmEF—AH L 3x-2y+6=0 @ X WAL Ol HALEF WP APWAEE— 20 - 4 D u
P H X ShAY HASR X B0 Q M WA AAPQ R AQ+PO =10 0 WFLILEE P SR AT




